pitch

roll

27mar07 4azsw @ 10deqg za. tiltSensor frame PITCH — (cO+clxaz from fit)
o0 T T T T T T T T T T T
Data—(cO+cT*az from fit) clockwise spin h
Data—(cO+c1xaz from fit) CCW spin i
- fit residuals: 0.004 deg s
0.05— -

0.00 iy
‘ N ‘
L Pitch= 0.2602 + 0.0000xza +8.15e—06xaz + j _
za: 10 0.0066x*sin( az — 348.6) +
B 0.0213x*sin(30z — 305.6 7
005 Pitch= 0.2639 + 0.0000%za —1.37e—06*az + —
za: 10 0.0061*sin( az — 2.4) +
i 0.0223*sin(3az — 302.9) 7
7O.WO‘ 1 ‘ 1 1 ‘ 1 1 ‘ 1
0 100 200 300
27mar07 4azsw @ 10deqg za. tiltSensor frame Roll — (cO+cl*az from fit)
OWO‘ T T T T T T T T T ‘ T T T T T T T T T ‘ T T T T T T T T ‘ T T T T T T
L fit residuals: 0.005 deg _
0.05
0.00

-0.05

Roll ==0.1944 + 0.0000xza +5.24e—-06xaz +
- za: 10 0.0044xsin( az — 82.0) + :
| 0.0442xsin(30z — 118.7 i
Roll ==0.1971 + 0.0000xza +/.51e—06%az +
- za: 10 0.0023xsin( az — 62.7) + -
L 0.0436%sin(3az — 118.6 i
7O.WO‘ 1 ‘ 1 1 ‘ 1 1 ‘ 1

0 100 200 300



